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SA SETARA
HE: 9D RS 2 UFN DI(BIYLS/YGEE - 2F)
ool s 2 2FaE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S=E A A 1,697,442 2,231,632 A 534,190
2 185,000
Al 1,512,442
oFD WRE 2 UHEE 2Z(BEES/MGIEE - =E) 397,442 431,632 A 34,190
2 185,000
Al 212,442
= 2 =82 26,322 5,512 20,810
He 2 222 6,322 5,512 810
201 et 9| 2,310 1,500 810
01 AF 2t 2| H| 2,310 1,500 810
O%H =&HBA =2 6 2~ +135,000& 810
OYH=EE =222 2572 1,500,000& 1,500
202 044l 1,512 1,512 0
01 2L Y| 1,512 1,512 0]
o222 =& 1,512,000 1,512
206 M Hl 2,500 2,500 0
01 XHZ HI 2,500 2,500 0
SEBAIE WY 7 (96 A)
1,500,000 1,500
OXFZHAA SH AR 1,000,000 1,000
OFLH AZAAE AX 20,000 0 20,000
401 AlEHIZ £ 0HY| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OY=E=E Z2sAIE =Z2HEAFY  20,000,0003 20,000
DISAE=S A& 22 371,120 426,120 A 55,000
2 185,000
Al 186, 120
OIS A= Al A& 22 107,120 100, 120 7,000
201 2Et2Ay| 12,120 12,120 0
01 AP 2t 2] H| 12,120 12,120 0
OUBILBY DISMLE +TAMN 248 S
12,120,000 12,120
206 M = dl 3,000 8,000 25,000
01 X2 Hl 3,000 8,000 A5,000
onsasz A543 2 3,000,000 3,000
401 Al HI L E0HHI 80,000 80,000 0
01 Al&H| 80,000 80,000 0
ONISA+E U SMEES: SR
50,000,000 50,000
O0IsS&ET ST A Y AIE 22
30,000,000& 30,000
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405 RHoHE S HI 12,000 0 12,000
01 AL EZFH S 12,000 0 12,000
OASAES HIU HE2Y 12,000,000 12,000
SEsQMEELNY 150,000 226,000 AT76,000
2 105,000
Al 45,000
401 AIEHI L 2 CHYI 150,000 226,000 276,000
2 105,000
Al 45,000
01 A& HI 148,920 224,373 AT75,453
OSESHUEESFIHEAMS 148,920,000 148,920
2 104,244
Al 44,676
03 Al 2 THHI 1,080 1,627 VANGY:Y4
OsZEsHHUESIHEAE 1,080,000 1,080
= 756
Al 324
A2RETAENAMS 114,000 100,000 14,000
& 80,000
Al 34,000
401 Al HIZ 201 8] 114,000 100,000 14,000
& 80,000
Al 34,000
01 A& HI 113,180 99,100 14,080
OALTHI=TAIENSALS 113,180, 000& 113,180
& 79,424
Al 33,756
03 AIE 2 THHI 820 900 A 80
OALTHR2=TAIEINSAIS 820,000 820
= 576
Al 244
NRES(2TAGEL)(B#ZES /46t - =4 1,300,000 1,800,000 A 500,000
HEHHK = 1,300,000 1,800,000 A 500,000
N EEINH HES 1,300,000 1,800,000 A 500,000
404 BIOILHENES 1,300,000 1,800,000 A 500,000
01 BIILELINHUNENES 1,300,000 1,800,000 A500,000
OM=EEY3IH NH=dE3 1,300,000,000& 1,300,000




